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3T & felw S, / Instructions to the Candidates

1 94 OF GQ&T gieder & §9 7 eonl A ust W aalt 3t @ aeaiea e
ST /The question paper is in the form of test booklet. All candidates will be
assessed on identical questions.

2. 3 for@ar &g |l 3t @ @ & ufd & WY e § T NTHIR W
gfeaedT 3Ueey FS SMuIll| 3eiiatsd Hea o ufd & NTANR M & e iy
aur 3=t @ "o &9 / A separate OMR answer sheet with carbon impression

is provided to all candidates for answering. The carbon impression of the OMR
sheet will be detached and handed over to candidate by the invigilator.
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. W TS TS TEH g a1 / HUAT "ewr & @y @ smwen, sl Rty s@
Req (F), (@), (1), TAT (F) @F] SHY 30 § TH & =R F@E &9 / Each

objective question is provided with a text and/or figures wherever applicable
with multiple answer choices (a), (b), (c) and (d). Only one of them is correct.

. AR e W RE aw egerlt & e & udl U Wi B Refdd e g
foreer &g &aa Ao 3ar Hre dfedl Uige Pad B & UANT @ / Read the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen
for writing on OMR sheet and marking your answers.

g T WER & wAl F O HS N og HAE  Uh e g
Ierd 3T & foT IS FAPRIcHD 3ieheT a8 & / All objective type questions carry

equal marks of ONE for a correct answer. There is no negative marking for
wrong answers.

. T W g fafay 3w & o 3@ reld IW @ AT Srwan|
Multiple answers for a question will be regarded as a wrong answer.

. TS BT W 16 B &g YR F e 717 Rev Tl &1 30T #X @b ¢
3o @ P Y ofic suaey A& @S Smuelt / Space available in the booklet

could be used for rough work, if required. No separate sheet will be provided.

.S g 3T & T g & BiSa o T @, 36 W IR §AT I gelig o Bl 3
I UH Bl B Hhd & dAT 91 # Hfdad U & ot / Do not waste time on

questions, which are too difficult for you. You can go on to other questions and
come back to the difficult ones later.

.08 F ugd HT & R Al @ uliem s oisa & gafa @ &

Candidates are not permitted to leave the examination hall during the first hour

10.

of the examination.

ufieT & WA @ W (1) Wit R gu R oler & gia Ree qur (2)
IMNTAINR 3o YReenr rediate @ i & aor fodr off grera 7 gl gox aex &
& ST / At the end of the test (1) Hall Ticket(s) with photograph pasted on it

and (2) OMR Answer Sheet shall be returned to the invigilator and shall not be
carried by the candidate under any circumstances.
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FH TR & HTALUHS H BIH U Y138 Gladl YR T 39ATT fhar Srar 87

In which type of fire both foam and powder type fire extinguisher can be used

a. Felld/Class A
b. FellH/Class B
c. Felld/Class C
d. Felld/Class D
fegcadids goR 3Yar diees R Fo R & T 3cded gl § 519 3elsh IHRAR

i3 gd1d FMAT ATAT & Certain type of materials generates an electrostatic charge or voltage
when mechanical force is applied across them.

a. uar ﬁa}gﬁ Piezo-electric

b. WIE-faedd Photo-electric

c. drdrg faaga Thermo-electric
d. wrer 9faE Photo-resistive

ar e & drg & Ao/t A9 & forw R 31T 1 weT R ST 87
The gauge used to measure gaps/clearance between two parts

a. WIeR ST Feeler gauge
b. ¥ ST Screw gauge
HISsh! HIET Micro meter
araY AT Wire gauge

a o

vordirar aRads & fagia W garfeid g1ar & LVDT operates on the principle of
a. Tad: 3TOSEYeT Fr gRadsT Variation of Self inductance
b. 3mgdr 3fOsaI &1 9RadsT Variation of Mutual inductance

c. WIddsl & 9Rade Variation of Reluctance

d. TYAYT &1 9Rade Variation of permanence

dRIX & <A ATl & TelU ThH el bl JATT ThAT ST &7?
The tool used for measuring diameter of a wire is

a. Thd Scale
b. WIe I Feeler gauge
c. @R IS Wire gauge

d. FSHIHCT Micro meter

ﬁ?\gﬁ' 3raer fr Si ?Jﬁ-'l?f §ar %‘7 Sl unit of electric charge is
a. aree/3MEHA Volt/ohm
b. UPR/AFs Ampere/second
c. dre/A%s Watt/second
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d. El;\ﬁ'éf Coulomb

7. SHPT AU Pl & ToIU SFAHICI HI 39ANET ThAT SATAT § Tachometer is used for measuring

a U‘;Uﬁ?T I Rotation Speed
b. MY Temperature

C. GdId Pressure

d. «afd sound

8. EH 100 YRt $ FATK A SIS Silel T IO0MATTET Fel A0 fohcaTr gram?

Ten 10Q resistors are connected in parallel, the resultant total resistance is

a. 100
b. 1000
¢ 10
d. 50

9. 3eA AUH & AR, HHE e YohARIATH BT &7

As per the Ohm’s law, the current is inversely proportional to

a. dlecal Voltage
b. UfaRIYe® Resistance
aferse gfaRrers Specific resistance

d. 3T Charge

10. U 125 QA ol & FTARIY 4000 HEH olld & AT 130 & deeldr &1 T FRb &
The resistance of a 125 Q strain gauge changes by 1 ohm for 4000 micro strain. The gauge factor is
a. 1.5 b. 2 c. 2.5 d 3

11. T 12Q 9TaUERs 60V DC W & IR Siger o 9faits & fohder e gdrfed ghem?

A 120 resistor is connected across a 60 V DC source, current flowing through resistor is
a. 720A b. 4A c. 5A d 12A

The resistance of a resistor with colour code Orange, Red, Brown and Gold colour bands is
a. 32KQ*5% b. 3.2KQ + 10% C. 3200 +5% d. 320+5%

13. Ush OY & 9aTig T AT 100: 1 TYE & 393097 & Far =1 Ifg vtaadfex 0.6 U g, ar

gRTer &7 9aTg § The current in a circuit is measured using a 100 : 1 CT.If the ammeter reads
0.6 A, the circuit current is
a. 6A b. 60A Cc. 600A d. 60 mA

14, EresfiEr WA 7 R U9 SEdT & IO T 9 fohdar giar g7

Percentage of composition of Tin and Lead in soldering lead is
a. 90,10 b. 60, 40 C. 40, 60 d. 50, 50
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15. q:l?:?[‘ HT 9T Tordar ’é"? Resistance of earth is

o0 T w

1 MQ

20 MQ
Infinite
About Zero O

16. ST & Selagrarse H B¥ce e &1 w9 F4i giar &7

Distilled water is used in electrolytes in batteries because it
Ig TUTAT TohdT & a1 AT A Il &1 Prevents or slows down local action

b. faa'g?f TS fohaT & dof FLdl &1 Speeds up electro chemical action
fafarse & "/ U oITer &1 Improves specific gravity
YIRuT @ ST 81 Prevents polarisation

a.

C.

d.

17. [@FA # & il & HET 7787 & Which of the following is not correct?

dlecHeY 7 e gfade g’lau % /Voltmeter should have a very high resistance
Teh THHACT H 31l e wia BWF!T g i%Q /An ammeter should have a very low

resistance

U Q¢ H e @7 9faer g=r T1f@T /A shunt should have a very low resistance
U Zolagifele dlecaley FId & FIHT dlecHeT ol & /An electronic voltmeter draws

appreciable current from source

2

18.%@@*%%%%%@%%%?

Instrument used for measuring specific gravity is

a.

b.

C.

d.

HeCIHIET Multi meter
olFeIHIET Lactometer
g123HEY Hydro meter
ETZINHIET Hygrometer

19. GTRAT(C), asaraR(V) va HAA(Q) F & FAT HIT g7
The relation between capacitance (C) and PD (V) and Charge (Q) is given by
a— C=Q/N b. c=Vv/Q c—C=QV

d _c-0n/\y
AT A [

=V

20. U 3URTOT 51 IR-faegyr sifaen A &I (9 a9, eafer srrar geren) 1 fAega dd #

dColdl &, HEelldl & A device which transforms a non-electrical physical quantity (i.e.

temperature, sound or light into an electrical signal is called

a.
b.

c.

Cl=q%h 7Y Transformer
c ~gdaY Transceiver

CldSTAY Transducer
Eiﬁﬁa Terminator
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21 m—m AT & Chromel- Alumel thermocouple is
a. ST BT J Type
b. é’ cls9  E Type
c. CrTBEd T Type
d. & @BY K Type

22. C,AC, UTRA H Gl H S5l T Fel GTRAT Fhek=AT gHM?
C, and G, are the capacitors connected in series, then the total capacitance is equal to

a. G+GC,
b. C;GC/(Ci+Cy)
c.  (Ci+G/ICG)
d. G/G

23, T afaeie &g 39T T 39T FAT ST Hhdl & A moving iron instrument can be used for
a. Had sEr & T deonly
b. @del THT & TIT aconly
c. &l 3T Ud THAT both dcand ac

d. S/l ud 3= 3gfcd THT dcand high frequency ac

24. iSHT Ul SHE ST & The term 'Poisson's ratio' is connected with
a. Toldiarer LVDT

b. &se &gd Bourdon tube
¢. TeT ST Strain gauge
d. FHATAEH SI=HSHT Capacitance transducer

25. B AT & A9A AT AT Tpead 2 3EF 3TN AT & TTY AT AGN § The degree

of closeness of the measured value of a certain quantity with its true value is known as

a.  HIehdl Accuracy

b. qﬁ'@lﬁ Precision
c. HldAsh Standard
d. TdeaALferdr Sensitivity

26. Ueh R-L-C [Tl giyaer a1 gfaerem forder 89m?  Impedance of an R-L-C series circuit is

a. [R®+XE+XZ b. [R?+ X2 —X¢

c. JRT+ (X, —X)?  d JRZ+ (X, +X()?



27.

28.

29,

30.

3.

3-]7f=i?q?-|' 3-1'IT:I:F¢T AT LT T el & The formulae determining resonance frequency is
1 1

a'fr:ﬁ h. fr:\,’LC C: ﬁzZﬂﬂ d. fTIZTTVLC

S AT & AHASIA AT 10V &1 RMS ATH AT |

The maximum value of sine wave is 10V, what is the RMS value?
a. 1414V b. 6.060V c. 7.070V d. 14.14V

forell 3UsRtor # i W& A afg & v fFy afekivs & Sher arar §2

Resistor connected to increase current range in an instrument is
a. et & Al iRt Series low value resistor

b. 3ITd AT f“{@'E;IT gfarers Series high value resistor
foeT AT 2@ 9l Shunt low value resistor
d. 3Td AT T UTRIE Shunt high value resistor

L2

Tsh Y@ dlecsl @S #, d ols W aledst 18 v aur quf dlis @ aleest 17.6V &

g ams &1 gyfawa BFaar gem?

In a series voltage regulator, no load voltage is 18 V and full load voltage is 17.6 V. Percentage of load

regulation is
a. 0.4% b. 0.2% C. 2.22% d. 3.86%

ROM ¥ T 3T %‘7 ROM stands for
a. Rae SIET HANT Real output memory
b. {8 3MeTell AANY Read only memory
c. {3 J13¢YC HAN Read output memory
d. &H 313c9c HAANY Random output memory

32. CPU # o7 QTfAer &Idr §? CPU includes
a. ALU TG HAN ALU & Memory
b. AANT ug faor let:r‘{'(f Memory & Control unit ‘
c. fa@=oT gfe wd ALU Control unit & ALU
d. gqc g HT3TYC 39T Input & Output devices
33. T RC AT Yatieh H, oot gl o wifer & ol a2t gl g7

In a RC coupled amplifier, the reduction in gain at low frequency is caused due to

a. A IfaRIEE Bias resistor

b. TRdr gfaerd Capacitive reactance
c. 9OT 9fdErd Inductive reactance

d. ETEFeEL Transistor
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34

35.

36.

37.

38.

39.

40.

IfE U ST T Hageh e 10 mA JUT S8 e 100pA &, dr dlecol afey g fohdar

gt
If the collector current of a transistor is 10 mA and base current is 100uA, its voltage gain B is
a. 10 b. 100 c. 200 d 1

U TSl T qOfer 60 Hie qur Ueh $oi 10 HleX § gl oS fohdsr g

Perimeter of a rectangle is 60 meter whose one of the side is 10m and the other side is
a. 12m b. 15m C. 18 m d. 20m

TS Holed A Farerehel ST, TR s T 3TAT fodTd Jomell H ..o, & HIYT &
fere fasam Sirar g

Pirani gauge is used for measurement of -------------- in a vacuum system
a. dI9ATT Temperature b. I Pressure

c. &IC Current d. dredat Voltage

LDR & T 311A %"’ LDR stands for
a. dolsc f3efFear IA/TET Light detecting resistor
b. o 3fAEr BT Low density resistor
c. dIsc 3use I@ET Light dependent resistor
d. osc fBWhiFea Y Light defective ray

U YAY® @ alelh & & H 3UAT A AT S Geohell & Tfe, IHPT o o8l ........ gl

An amplifier can work as Oscillator when its loop gain is
a. 37d Infinity b. Y= Zero

c. -1 d. +1

ZAHFAT 1000 HT U MU H F&TolT Convert decimal 1000 in to Hexadecimal
a. 2F0 b. 3E8 c. 3E9 d. 3F0

SCADA WUl & 3TeT T80T, TR, ... g AFor f&ar Sirar B

41.

SCADA system performs data acquisition, communication, ---------- & Control.
a. srer yfafAf¥ca Data representation

b. 3IETH DCS
C. H\&-‘H @9 Micro controller

d. Hﬁﬁm Microprocessor
TaNiES i T Hlaar g2

Universal logic gate is

a. AND
b. OR

c. NAND
d. XOR

A-6



42, T&Sfieer yonferdt & foFT T&AT 38T 3GEAT &7 39T g &2

The number of discrete states used in digital system are
a. 1 b. 2 c. 3 d. 4

43. 62.8m IRIT aTel e T U fehetalr gram?

What is the diameter of a circle whose circumference is 62.8 m
a. 10m b. 5m b. 20m d. 30m

44. 2x3 x3x® xx?% s
a. 6x7 b. 6x° C. 6x736 d. 6x1!

45, UerHRT FT YR &l gdrg Hiel %’7 Rotameter is a flow meter of type
a. ¥ YR Head type
b. T &F YK Variable area type
c. HMECHS Ydlg Whl{ Quantitative flow type
d. GcIATA Jdlg IhR Mass flow type

46. AT d9AT T gl fhdaT 87 Standard temperature and pressure is defined as air at
a. 0°C, 760 mm Hg b. 20°C, 760 mm Hg
c. 10°C, 760 mm Hg d. 30°C, 760 mm Hg

47. ¥TITE Al 1 & AT & AT 3991 fFU Sy areT {IYaeATd &l Sk F7 &7
The type of orifice flow meter used to measure pressure of clean fluids is

a. Iﬁ-@'ﬂ' Concentric
b. 3cheld Eccentric
c. @3{1}? Segmental

d. ﬁéﬂﬁNone
48. 10T & ¥ Plaar o7 [FEATIA TagATdr 78 &2

Which of the following is not a positive displacement flow meter?

a. TOTed YdIg Piston flow
b. FRR 9dig Gear flow
c. GfYer 9a1® Helical flow
d. I Sdlg Orifice flow

49, E."j%‘m?-ﬂ' HHIEHIOT &7 Hel 1 €7 Roots of the quadratic equation are

—b+vVbi-4ac b b+vVbZ+4ac
a. 2a ’ 2a

—b—+/b%+4ac d b?+\b+4ac
c. 2a ' 2a

A-7



50. 37%T ATSTeh &Y AT 3TFTH g7 A half adder needs
a. T& OR TF T XOR 3T One OR & one XOR gate
b. U& AND Td T XOR 31T One AND & one XOR gate
c. T&H NAND td U OR 31T One NAND & one OR gate
d. TH AND UG T& OR € One AND & one OR gate

51.%@*%@@%%—@?%%@#3#@%%?

Counter in which every flip-flop is triggered parallel by the clock input is
a. W F13¢T Asynchronous counter

b. cj:cvélchli?iq-: I3 Synchronous counter
c. 3 FE Ripple counter
d. 39-313 &3¢ up-down counter

52. TR Hdgeh ZaRT fohd & ¥R &M 9T S@Tmar il g7
Level sensors used to detect the levels of
a. N Solids b. a¥e Liquids

c. I gases d. @I Pressure

53. TEARATT &7 3SIEI0T ¢ / Example of Volatile memory

a. RAM b. ROM
c. PROM d. EPROM

54, 8086 T ........... fae ABHIITET § / 8086 is @ ----nm-mmrmmmemmv bit micro processor
a B b. 16 ¢ 82 d. 64

55. QIEAHET & FAT FAYT SATAT §2 Pyrometer is used to measure
a. JTd Speed b. A4 Velocity
c. GId Pressure d. d9HATT Temperature

56. 918 &X ol Y g / Baud rate means

5rg ¥ ¥ Q9o Seold & /The rate at which signal changes

. FaRd e & e uia Zlcj?ﬁ' THT/The number of bits transmitted per unit time
Taid sge &r & Ui ?Ilrﬁ"cf HAT /The number of bytes transmitted per unit time.
SAHH FIS AGT /None of the above

o Q

[oN

57. RFE FTH & IP TSH Uld dcad D IRFAH 254 g UsH Ueled Hdl 87

Which class of IP address provides a maximum 254 host addresses per network ID
a. elld/Class A b. &FellH/Class B

c. @Felld/Class C d. @Felld/Class D



58.

59.

60.

61.

62.

63.

T UTP Cats el 3 Tt camafdld oo gl &2

Number of twisted pairs in a UTP Cat5 cable is
a. 4 b. 5

c. 6 d 2

DC HYeX HT T FT . H scoma O @I & 51 gdr g

Speed of DC motors can be controlled by varying
a. WelsFH Flux

b. 3mfia"\r OTRIET Armature resistance
c. UAfSa e Applied voltage
d. ﬂ'{iﬁ'?f T All of the above

Uh YT Iefeileeh IRIY H, IeaAer Hgfe o fcamer frdsr gidr &2
In a series resonant circuit, the impedance of the circuit at resonant frequency is equal to
a. R b. X,

C. Xc d. XLﬁXC

T3 TR A, WAfAs it o Fr 3r9e gfadaes & e grelr Bl

The number of turns in secondary of a step-up transformeris ___ the number of turns in primary
a. YHT Equal to b. & Less than
c. 3IT8F Greater than d. 7 # ¥ FIS T8l None of the above
Teh YT T HASHINHIL oo, F FT F FH HT gl
A microprocessor acts as a -==-=-==-=-m-mx of a computer
a. ALU b. CPU
c. RAM d. ROM
U ZRABEN &1 Tl HdTd 1:20 § dar Waffs deesr 12v | 3T@ gfadias dieest
rder grom?

The turns ratio of a transformer is 1:20, and primary voltage is 12V. What is its secondary voltage?

64.

a. 12v b. 240v
c. 0.6V d. 20v

Teh dRN HT S N OUCRIY 60 §1 AW Yerd & 3T R # YOy A@g fefere
fSraeY oieTg 8 (UM AT T HIE & I g

A length of wire has resistance of 6Q. Find the resistance of another wire of same material 8 times
longer and twice the cross-sectional area

a. 60 b. 12Q
c. 180 d. 24Q

A-9



65. Uh TRUY H 2 FHAA TS ofdl §| SHA! ol IR fohdar gome
A circuit consists of 2 unequal resistances in parallel. The total resistance is
a. & 9T & SUET equal to smaller resistance

b. 378 9fayr & sET equal to larger resistance
c. 30 wider & 31 larger than larger resistance
d. & IO T FH smaller than smaller resistance

66. Jcadw deifacider & T JWFaR oFT HaAFeX HT 3TN gldr g2

The type of connector mostly used for network connectivity is
a. RJ-33 b. BNC C. SMA d. RJ-45

67.%Wﬁﬁ§A3mﬁ§Ba€aﬁwﬁﬁUw%?

The resistance between point A and point B in the following circuit is

80 220

a. 40Q b.190Q c.12Q d.100Q

ss.ﬁmqﬁwﬁﬁgAwﬁgB$aﬁ€rﬂTﬁﬂTw%?

The capacitance between point A and point B in the following circuit is

25 pF

II 50 pF

2o 50uF B
A

II 25 uF

a. 25uF b. IS5 puF c. I0pF d. 20pF

69. T W-ersT [T HzFed H?
In an P-type semiconductor
a. Solgcld HoqEETS Tdigsd & / Electrons are minority carriers
b. WIE 3eUd&Edd Hdigeh & / Protons are minority carriers
. grom 3OgEas Hags & / Holes are majority carriers
. Sogcr AfraEgs Hdlge & / Electrons are majority carriers

a o
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70. I 81T T HNAS ¥ gaTg H IRAdeT 1 AT Fe arelr gRTY F deq HlaAar §2
The circuit element which resists change in current through it by the action of magnetic field is

a. YTt / Resistor b. ©TRT / Capacitor
¢. 9T / Inductor d. TIeleeT/ Transistor

71. U AlecHTIT T 3TEeT 3TARe TTarer fhder glar arRe

The ideal internal resistance of a Voltmeter should be

a. 1KQ b.1mQ c.3AAd / Infinity  d.FT / Zero

72, (95)°-(85)%&T AT FAT § ./ What is the value of (95)° — (85)>
a. 950 b. 850 c. 1800 d. 1700

73. WASIOT IS H, 3R F7 5 §, 3R 3@ U oo 3¢, A Hady s fr Seng w4r g

In a right triangle, if the length of hypotenuse is 5, and one side is 3, what is the length of the third
side?

a. 5 b. 3 c. 4 d. 6

74. HI.UAINTH FHT A § / CMOS stands for
a. HITERT ATA HAH HEECC / Capacitive Measurement Of Substrate
b. FIEcaHed AT B-ﬁWIBE‘T AfAdaFe / Complementary Metal Oxide Semiconductor
c. FFFAIRTS HeT 3% =T / Combinatorial Mean Of Sequence

FqfolaT Ahlawd 3NaT AT / Coupling Mechanism Over Silicon

o

75. EFC?{ET ersGTIdell & BIOS T &7 37 &/ In Computer terminology, BIOS stands for
a. 8% geIqe HeleArgarerier ESH / Basic Input Organizational System
b. 8% $a-§?1‘\iﬁa 13T T / Basic Intuitive Output Set

(@]

EIreCa $eqC 313cYC THECH / Basic Input Output System
. 3% SITEST AT fBTTH / Basic Industry Operating System

Q.

76. wm&?wmﬁwmmmﬁ?

The input impedance of an ideal operational amplifier is
a. Y / Zero b. 37 / Infinity c. ¥ / Low d. 3=d / High

77. EEIUA fFE YR & HIAGT 3UHIUT § / CD-ROM is which type of storage device
a. Tl / Flash b. 3fifCeerer / Optical
G ?:T;Tsﬁﬁ(”J/ Magnetic d. AfAFzFeT / Semiconductor
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78. HL.AN.TT.UH &7 3 & / ROHS stands for

a.
b.

C:

{5 30Tl g8 TS / Read Only High Speed
NTECFerT 3TH gollsd TsEeH / Restriction Of Hazardous Substances
EA 3N gies AfATHsael / Random Only Heated Semiconductor

d. YAz 3NfAaa g Mes / Rapid Omission Heat Shield

79. TRIAC Thah HAJeT gIar 8?7 / TRIAC is equivalent to

80.

a
b.
A
d.

W E=f ?g? @l DIAC / Two DIACs connected in series
TATR #H G_I;s} @I DIAC / Two DIACs connected in parallel
G # SIS @l SCR / Two SCRs connected in series
FATR & 3_1__3 @l SCR / Two SCRs connected in parallel

PLC ST 3TT21T & / PLC stands for

oo o

Pressure load control
Programmable logic control
Pneumatic logic control

PID loop control
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